restart

Ecuacion '=2-y-(y'+2) —x-(y )

&Io— s

Ecuacion =2 y(x) ( y(x) +2) —X (%y(x)) =0

SolGral = dsolve( Ecuacion) : simplify(SolGral[3])

_ 1 (-x+2 CI)’
Y =5 CI
DerSolGral = simplify(diff (SolGral[3], x))

DerSolGral := % y(x) = - ‘?C—‘EC%I_Q

Comprobar = simplify(eval(subs(y(x) =rhs(SolGral[3]), Ecuacion)))
Comprobar :=0=0

SolSing == SolGral[1]

SolSing :=y(x) =-4x
SolSingDos = SolGral[2]

SolSingDos :=y(x) =0

ComprobarDos = simplify(eval(subs(y(x) =rhs(SolSingDos), Ecuacion) ))

ComprobarDos := 0 =0

ComprobarUno = simplify(eval(subs(y(x) =rhs(SolSing), Ecuacion)) )
ComprobarUno :=0=0

restart
Ecua ==x2—y(x)~x2+ (y( ) +xy(x ) dljj‘ =

Ecua:zxz—y(x)x +(y( )" txy(x (%

M = facz‘or(x2 —y'xz)

N = factor(y2 —I—x-yz)

N=y (x+1)

Pi=-x

P:=—x2
O=y—1

O=y—1
R=x+1

R=x+1
S==y2

S:=y2

SolGralCero = Int( %, x) + Int

SolGralCero :=

0y
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SolGral = int(%,x) +int(%,y) = ClI

SolGral = —%xz-l—x—ln(x—i-l) +%y2+y+ln(y—1)=_C1

SolGralDos = - % Z+x —In(x+1) + %y(x)2 +y(x) +In(y(x)-1)=_CI

SolGralDos = - % P x— In(x+1) + %y(x)2 +y(x) +In(y(x) —1)=_CI

DerSolGral == simplify(isolate(diff (SolGralDos, x), diff (y(x),x)))
2
DerSolGral .= d y(x) = X vy =1) 1)2
dx (x+1) y(x)
DerEcua = isolate( Ecua, diff (y(x), x))

- +y(x) ¥
)2

DerEcua = (x) =

4
dx y(x)? +xy(x
Comprobacion = simplify(rhs(DerSolGral) — rhs(DerEcua)) =0

Comprobacion :=0=0

with(DEtools) :
odeadvisor(Ecua)
[ _separable]
Ecua
d
=y ¥+ () Fayn?) (oo | =0
restart

Ecua = y-log(y) +x-y'=0

Ecua :=y(x) In(y(x)) +x (% y(x)) =0

with(DEtools) :
odeadvisor(Ecua)
[ separable]
P:=1;0:=ylog(y);R:=x;5:=1
P=1
Q:=yln(y)
R=x

S=1

SolGral = isolate(int( %, x) + int( %,y) =log( CI ),y)
Cl

SolGral =y=e
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